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1. 131un

71 munxnn 3 ,P(B) 2192 P(A) xan P(AB) , P(AUB)= P(A) + P(B) - P(AB) .x
.80% + 60% - 48% = 92% :M123 .0"M7N

.80% + 60% - 2*48% = 44% .2

100% - 92% = 8% .1

60% * 20% = 12% .1
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1203 P(AUB) - P(A~B) = P(A) + P(B) - P(ANB) - P(ANB)
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4 na1won
P(A)=0.1 P(B)=0.3 P(A)=0.05
P(AnB)=0.08 P(AnC)=0.02 P(BNC)=0.04
P(AnBNC)=0.01

:AWUN? 29 1R1 NIRRT NITDA

P(AUBUC) - P(ANB) - P(AnB) - P(BNC) + 2P(An BN C) X
= P(A) + P(B) + P(C) - 2P(An B) = 2P(AnC) - 2P(BC) + 3P(An BN C)
=0.1+0.3+0.05-2%(0.08+0.02+0.04)+3*0.01=0.2

0.2*100,000= 20,000

P(AnB)+ P(AnB)+P(BNC)-2P(AnBNC) A
=0.08+0.02+0.04-2*0.01=0.12
0.12*100,000=12,000

P(AnB)+P(AnB)-P(AnBNC) A
=0.08+0.04-0.01=0.11
0.11*100,000=11,000

P(AnB)+P(AnB)-2* P(ANBNC) T
=0.08+0.04-2*0.01=0.1
0.1*100,000=10,000



5 1121wn
P(AUB) = P(A) + P(B) - P(An B)

P(AuUBUC)=P((AuB)uUC)=P(AuB)+P(C)-P(AuB)nC)
=P(A)+P(B)-P(AnB)+P(C)-P(AnC)u(BNnC))
=P(A)+P(B)-P(AnB)+P(C)-P(ANC)-P(BNC)+ P(AnBNC)

P(AUBuUCuUD)=P(AuBUC)uUD)=P(AUBUC)+P(D)-P(AuBUC)nD)
=P(A)+P(B)+P(C)-P(AnB)-P(ANC)-P(BNC)+ P(AnNBNC)+ P(D)
-P((AnD)u(BNnD)u(CnD))
=P(A)+ P(B)+P(C)+ P(D)-P(AnB)-P(ANC)-P(BNC)+ P(AnBNC)

-[P(AnD)+P(BNnD)+P(CnD)-P(AnBNnD)-P(ANCnD)-P(BNCND)
+ P(AnBNCn D)

=P(A)+P(B)+P(C)+P(D)-P(AnB)- p(AnNC)-P(BNC)-P(AnD)-P(BND)
-P(CnD)+P(AnBNC)+P(AnBND)+P(ANCND)+P(BNCnD)
-P(AnBNCnNnD)



